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QID : 201 - In the following question, select the related word from the given alternatives.

Frog : Amphibian : : Lizard : ?

e uy & fow e fowed & @ T wsg &1 gl

Wed : IUTR : : fBUBl: ?

Options:
;) Rodent

2) Mammal
3) Reptile

4) Insect
Dl

Correct Answer: Reptile

Candidate Answer: Rodent

Pddh

QID : 202 - In the following question, select the related letters from the given alternatives.

DJLQ : WQOJ : : DMSW : ?

oo wy & faw e fowed & @ e sl & g

DILQ: WQOJ::DMSW:?

Options:
1) WNHD

2) WNDH
3) WHND

4) WWCC

Correct Answer: WNHD

Candidate Answer: [ NOT ANSWERED ]

QID : 203 - In the following question, select the related number from the given alternatives.

7:56::11:?

Frafafed uy o fau e el # ¥ deifa e &1 gul

7:56::11:?

Options:
1) 121

2) 123
3) 132

4)134

Correct Answer: 132

Candidate Answer: 132

QID : 204 - In the following question, select the odd word from the given alternatives.

Fofoiad uy & faw e fowed & @ fawy wreg &) g
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Options:
1.) Music

2) Singer
D

3) Director
4) Actor
ST

Correct Answer: Music

Candidate Answer: Director

QID : 205 - In the following question, select the odd letters from the given alternatives.

frofafed vy & fau e fawed & 9 fawm srert &1 g
Options:
1) 1GD

2) NLI
3) XUR

4) QNK
Correct Answer: NLI
Candidate Answer: XUR

QID : 206 - In the following question, select the odd number from the given alternatives.

fafaRad uy & iU U fawed & ¥ fawm W &1 gHu|
Options:
1)71

2)83
3)89

4) 93
Correct Answer: 93
Candidate Answer: [ NOT ANSWERED ]

QID : 207 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Counter
2. Crop

3. Create

4. Carnation
5. Creator

faffed Weal &1 AP & 3 aTd HH & IR |
1. Counter

2. Crop

3. Create

4. Carnation
5. Creator

Options:
1) 41352
2) 41253
3) 43125

4) 41325
Correct Answer: 41352
Candidate Answer: [ NOT ANSWERED ]

QID : 208 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
A E J,N,S,W,?
T 3gehY foan mar g, o ¥ U U gw B 3 T fawedt & 9 9 udt oo g, S o H B |

AE 3N, S W,?
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Options:
1)z

2)A
3)B

4)C
Correct Answer: B
Candidate Answer: B

QID : 209 - In the following question, select the missing number from the given series.
3,7,16,35,?

frafafed uy & few 7 fiwedl § ¥ g 8id 1d Sifm|

3,7,16,35,?

Options:

1)73

2)74

3)78

4) 82
Correct Answer: 74
Candidate Answer: 82

QID : 210 - The ratio of present ages of L and N is 7 : 5. If the age of N after seven years will be 32 years, then what is the present age (in years) of L?
L @ N T a1 31 T U 7 - 5 81 3fe I a9 Uiq N Bt 31y 32 T ghfl, o L B adam g (ast #) o1 82

Options:

1) 49

2)35

3)28

4) 42
Correct Answer: 35
Candidate Answer: [ NOT ANSWERED ]

QID : 211 - Pointing towards a girl, Chetan said "She is the daughter of the only child of my grandmother". How is Chetan related to that girl?

TP TSH! B 3R Yhd B gY I 3 Pel, "I8 B I} B THAR G Bt T §1” I 39 asH! J [y UsR Jeifdd g2
Options:

1) Father

e

2) Son
ke
3) Brother

4) Husband
CIfs]
Correct Answer: Brother

Candidate Answer: Brother

QID : 212 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Nightwalker

fau mu Uy #, o e § § 98 Wsg gAT S AU U Weg & $HeRT BT YANT X% eI ST o U g

Nightwalker

Options:

1) Talker

2) Tailer

3) Waller

4) Winer
Correct Answer: Waller
Candidate Answer: Waller
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QID : 213 - In a certain code language, "SPICEY" is written as "ELOUAY" and "PONDER" is written as "JKLNAZ". How is "HOUSED" written in that code
language?

T fAfIy S U H, "SPICEY" &1 "ELOUAY" foRaT STl € IUT "PONDER" &1 "JIKLNAZ" foIaT SaT 81 39 ®Is {11 # "HOUSED" &1 fohdg TR ferar Siewm?
Options:
1) QKDZAO

2) GNTRDC
3) WQIFGU

4) DKQAOZ
Correct Answer: QKDZAO
Candidate Answer: [ NOT ANSWERED ]

QID : 214 - If "x" denotes "added to", "+" denotes "subtracted from", "+" denotes "divided by" and "-" denotes "multiplied by", then
14x12-16 -18=7?
Al "x" BT orf "SI B, " T o rHeTa” B, "+ BT o "UmT R g " w7 anef o g

14x12-16 - 18 =7
Options:

1) 430

2) 180

3) 168

4) 188

Correct Answer: 188
Candidate Answer: 188

QID: 215 - If 18 x 12 = 206 and 19 x 22 = 408, then
23x36="2?
Tfg 18 x 12 = 206 TUT 19 x 22 = 408 T, T

23x36=7?
Options:

1) 878

2) 818

3) 794

4) 776

Correct Answer: 818
Candidate Answer: 818

QID: 216 -
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Teaoiag o # fow or faseut & @ uy e
(7) & TUE W I Tren TEA FH gD

2 4 1
5 3 5
7 2 5
39 17 2
Options:
1) 11
2)31
3)32
4)37

Correct Answer: 31
Candidate Answer: 31
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QID: 217-
How many triangles are there in the given figure?

& a1 gt 3 e g ¥

Options:
1)8

2)9
3) 10

4) 12
Correct Answer: 9
Candidate Answer: 9

QID : 218 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

1. Some cups are plates.
II. All spoons are blue.
III. No plates are spoon.

Conclusions:

I. Some cups are not spoon.
II. Some plates are not blue.
III. Some cups are not blue.
IV. Some blue are not plates.

F3 3T U vdF Uy T $© HYUF IR I 91 39 HYAI W MUIRT F& ey fow v §, graifes 397 e ra a9 fistar g1 et 71 @t e ug ok i
fruffva % & for T o & freed faw T H1 & SuR R glaaeimd &1

DYA:

1. $% YT ¢
1L 9 T el B
IIL. B1E @e I el B

fFrep:

1. $9 $Y IS Tl 8

I 8 @e it T8l §

IIL. O $Y He e g1

V. $ 7 @ T

Options:

1) Only conclusion (I), (III) and (IV) follow.

Paa ey (1), (111) 941 ey (1v) T8 €

2) Only conclusion (II) and (IV) follow.
e (1) T ey (1v) T8 7

3) Only conclusion (II), (III) and (IV) follow.

Paa B (1), (111) 991 ey (1v) 98 g1

4) Only conclusion (I) and (IV) follow.
e (1) aut ey (1v) 98 B

Correct Answer: Only conclusion (I) and (IV) follow.

Paa ey (1) 7T Fisey (1v) 98 21

Candidate Answer: [ NOT ANSWERED ]
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QID:219-
Three position of a cube are shown below.

= o og & N sraEATT Sl T

Which symbol will come on two faces marked "1 and
27

‘1 gar 2' 3P ST Feleh! T i T U &g
HTHT?

@)

T | v
LT

P

e

Options:
1)06and d
0 TdUTd
2)aand B
adurp
3)8and B
0 TqUTB
4)6andy
e duTy
Correct Answer: a and 8
adurp

Candidate Answer: [ NOT ANSWERED ]

QID: 220-
In the given figure, how many huts are covered and
muddy?

& i gl A, fraeh ST smeoifea g

gereell €7
Muddy/
23 TS
/
Covered!/ 12 g//('
HreoTed 40 e Huts/
Srafsar
16
Options:
1) 28
2) 40
3)33
4)19

Correct Answer: 19
Candidate Answer: [ NOT ANSWERED ]
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QID: 221 -
Which answer figure will complete the pattern in the
question figure?

HlT T 39X FFA TH HFA & TasT & Q1T
FLN?

-~J

G_
G

Options:

Correct Answer:

b

Candidate Answer:

b

QID: 222 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& oE IR A # ¥ 3@ s delE & g
o & uyr 3pfa BT &

4
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Options:

1)

/

2)

3)

4)

/

Correct Answer:

QID: 223 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?
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Options:
1)

N
=

w
=

G

Za) 7y 7y 7

Correct Answer:

i

Candidate Answer:

i

QID: 224 -
If @ mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

afg ueh gUur @ AB ¥@T UL q@r ST, af & a8
IR ATEAE & @ FiF @ 3w ansl &
T ufafas 2efie

A
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Options:
1)

2)

3)

4)

> D[] |

Correct Answer:

4

Candidate Answer:

4

QID : 225 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘P’ can
be represented by 11, 23, etc., and ‘K’ can be represented by 65, 89, eic.
Similarly, you have to identify the set for the word “TAKE”.

UE QRE A Uh HEAT-EAT &R Guitar e ¥, Star fs Beedt & @
fopedt v & T ran &) fepeut & B v Tmm-meE EWT & g aw
AT g2iw e g Sk BF E A o wegg # § WegEl & TEA 3R
Ufch & T 0 T 4§ 3K eyl 15T 9| 5 IR d TH HaW &
Ugel saal Ufth 3R @ # TOSH TET G GRAET T Fhal &1 3amedor
& fau P @ 11, 23, 3l gy gufar S @war & awr K- @t 65, 89,
31T grr goifem S Ahar ¥ 3 aE | HUw A # BU g | TAKE
& U @ F waEE R

Matrix-1 Matrix-ll

-1 el
ol1]2]3] 4 567|809
OJA|N|S|T|P S5|R|E|P|K|O
1({T|P|[A|N]|S 6| K|O|R|E|P
2IN[S|TIP|A T|IE|P|K|O|R
3IP|AIN|S|T 8|0O(R|E|P|K
4|S(TIP|A|N 9|P|K|O|R|E
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Options:
1) 10, 32, 66, 56

2) 41, 00, 89, 75
3) 03, 43, 78, 99

4) 22, 13,97, 87
Correct Answer: 41, 00, 89, 75
Candidate Answer: 41, 00, 89, 75

QID : 226 - In which of the following market forms a firm does not exercise control over price?

fofafed 7 9 59 TR & IR & U a9 ¥y iddl & Faid s 7 srmd Jgar 82
Options:

1) Mixed Competition

ol gyt

2) Monopoly

THIABR

3) Oligopoly
SEAMADR

4) Perfect Competition
quf wyf

Correct Answer: Perfect Competition
quf ef

Candidate Answer: Mixed Competition

orfera et

QID : 227 - Which of the following is represented by 'Lorenz Curve'?
fofafed & & a g = gt 32

Options:
1) Employment

2). Inflation
3) Deflation
Kllepesdiin]

4) Income Distribution

3

Correct Answer: Income Distribution
31 faeRur

Candidate Answer: Income Distribution
3T faeRor

QID : 228 - Which of the following is not a fundamental duty?

faffed & & S &1 T e wefer T2 32

Options:

1) To abide by constitution and respect the National Flag
AU T UTe SR I E BT G HAT

2) To promote harmony and brotherhood

THaT AR UEIR BT Feral 31

3) To uphold and protect the sovereignty

YT BT & 3R I T I

4) Abolition of titles except military and academic

=7 3R e & sifafvea Tt Surfeet &1 I

Correct Answer: Abolition of titles except military and academic

=7 3R e & srfafvaa wxff Suifel &1 3@
Candidate Answer: [ NOT ANSWERED ]

QID : 229 - Which article can be used by The President of India to declare financial emergency?

59 o= 1 ITAN HR& URA & APUR faxlia SmuTdeTa & aiftd IR T 72
Options:

1) Article 32

TG 32

2) Article 349

TG 349

3) Article 360

TG 360

4) Article 365

TG 365

Correct Answer: Article 360
TG 360

Candidate Answer: Article 365

TG 365

http://thepracticetest.in/cs_cglet1_D/&Wd§hL@ _ElﬂeMﬁH'ﬁl@@WEYEGSDMMW%W@G%EB@]]SA?]@Q& 17712c90c3885¢ 11/27
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QID : 230 - The Poona Pact was signed between Mahatma Gandhi and

AT FHEhT HgTer et ok & o gan ol
Options:
1) Muhammad Ali Jinnah

WG 31l foramg
2) Lord Irwin
LIS

3) Subhash Chandra Bose
U I I

4) B. R. Ambedkar

dl. 3R,

Correct Answer: B. R. Ambedkar
. 3R, ETIR

Candidate Answer: B. R. Ambedkar
. 3.

QID : 231 - Which Governor General abolished the 'Sati System' in India?

P TMa=R SFRE 7 HRT H It Ut 1 3id fopam ar?
Options:

1) Lord Canning

drs BT

2) Lord Ripon

are o

3) Lord Wiliam Bentinck
are faferay dfcsw

42 Lord Dalhousie

Correct Answer: Lord Wiliam Bentinck

Candidate Answer: Lord Wiliam Bentinck

QID : 232 - Which of the following is NOT a primary green house gas in the earth's atmosphere?
i & @ o @ T agrsa § g7 1 g9 i =l 82

Options:
1) Methane
EiRg|

2) Ozone
e

3) -Nitrous oxide
qrgcy RS
4) Hydrogen

Correct Answer: Hydrogen

Candidate Answer: Ozone

QID : 233 - Which type of forest is most widespread in India?

HRA T 9o 99 & A gU I HIA § 82
Options:
1) Tropical Evergreen Forests
I Hiceed GaEeR ad
2) Tropical Deciduous Forests
IuT Biesdta gofardt aF
3) Montane Forests
CEl
4) Mangrove Forests
pICKCE]

Correct Answer: Tropical Deciduous Forests
Jwr Heddta gofurd a7

Candidate Answer: Mangrove Forests
g 31

QID : 234 - Which blood group is universal donor?
P T IFITHE Tdeldl Heardl o2

Options:

1) O+

2) 0

3) AB-

4) AB+
Correct Answer: O—
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Candidate Answer: O+

QID : 235 - In how many parts is the human brain divided?

AT T AT eyt # faunfoa 82
Options:
1)2

2)3
3)4

4)5
Correct Answer: 3
Candidate Answer: 3

QID : 236 - In which of the following class can we put Adrenaline?

frafefaa & @ sifiges 39 (3rR) &) &4 fba 3ol & 7@ goa 82
Options:
12 Hormone

2) Enzyme
USIRH
3) Protein

4) Fat
ERl
Correct Answer: Hormone

Candidate Answer: Protein

QID : 237 - Supercooling is cooling of liquid .

sffoefiaed (R i) fedisad_ aad s g gl
Options:

1) below melting point

TeHid § A

2) pelow freezing point

et 9

3) at melting point
e TR

4) above melting point
TS F SR

Correct Answer: below freezing point
fedi® 9 -

Car)didate Answer: below freezing point

QID : 238 - When light passes from one medium to another, this phenomenon of change in its direction is called .

THTRI & T AT & guR A1 § oR R 39! fG¥ & g1 arel uRacdH &1 get FHgan gl
Options:

1) Refraction

g

2) Diffraction
faacH
3) Propagation

R0
4) No option is correct
IS fahed Te T §

Correct Answer: Refraction

Candidate Answer: Refraction

QID : 239 - Which among the following is not an input device?

o & 9 o 1 3y fEasy e &2

Options:

1) Plotter

WX

2) Magnetic Ink Character Recognition (MICR)
P DI NPT (THIMSHISR)

3) Optical Mark Recognition (OMR)

K scackeica (3THIIR)

4) Barcode Reader

TRDIS Je
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Correct Answer: Plotter
iR

Candidate Answer: Magnetic Ink Character Recognition (MICR)
TIRT I PHiae RBUTA (THIMSHISR)

QID : 240 - Which of the following is also known as Carbolic Acid?

fofafad 7 @ B9 o sEiiad o & T J )t ST SfaT 82
Options:

1) Phenol

e

2) Hydroxide

3) Sulphuric Acid
Tt BT 3
4) Ethanol

Correct Answer: Phenol

Candidate Answer: Phenol

QID : 241 - Who discovered electron?

SAagH @ @i fhem @t o
Options:

1) E. Goldstien

T, Mew

2) J. J. Thomson
EACAUC]

3) Ernest Rutherford
ST TRBIS

4) 1. Chadwick
3. Jefae

Correct Answer: J. J. Thomson
S, i

Candidate Answer: J. J. Thomson
. S, deE

QID : 242 - Who is a major driving force behind the 'Narmada Bachao Andolan'?

TreT Sl SfiEia & Ui JeY U IR §¢ fgeT Ur?
Options:

1) Anna Hazare

ST FOR

2) Medha Patkar

YT UEHR

3) Shantha Sinha

i Rt

4) Manasi Pradhan

EiEnifetict

Correct Answer: Medha Patkar
TeT UTehR

Candidate Answer: Shantha Sinha
T7iar Rt

QID : 243 - 'Udey Desh ka Aam Nagrik' (UDAN) scheme for regional air connectivity will provide travel to tier 2 and tier 3 cities at the rate of Rs per hour.

I A BT 3 AR (ISH) o & 3iaefa Joft 2 aur 3t 3 & el 7 &g gars Yarg 3. Ufd gver ¥ Iuasy B

Options:

1) 1500

2) 2000

3) 2500

4) 3000

Correct Answer: 2500

Candidate Answer: 1500

QID : 244 - Who invented radar?

IBR &1 MfawHR farem fopar ur?

Options:
1) Fred Morrison

2) A. H. Taylor and Leo C. Young
T. U9, SOR a1 aeft 9. I

3) Van Tassel

T

4) W. K. Roentgen

T, &. e
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Correct Answer: A. H. Taylor and Leo C. Young
T, T3, TR T ohel .

Candidate Answer: W. K. Roentgen
T, &. Ao

QID : 245 - David Warner plays cricket for which country?

3o IRk forer =1 3 fore fobdre Qe &2
Options:

1) England

e

2) New Zealand
3)‘Australia

4) Sri Lanka
T

Correct Answer: Australia

Candidate Answer: [ NOT ANSWERED ]

QID : 246 - Japanese art ‘Ikebana’ is related to

"THEAT U WU Bl § off B Y FEfd g
Options:

1) paper folding

BAT BT HS

2) f[ower arrangement

3) tree cutting

Ul Pt berg

4) sand art

XA R et

Correct Answer: flower arrangement
SEIREL]

Candidate Answer: sand art

¥d R faFer

QID : 247 - Who was awarded the 2017 Padma Bhushan Award in the field of Art-Music?

FHA-TMA & &F & 2017 BT U ¥ REHR 63 ez m ar
Options:

1) Devi Prasad Dwivedi

St yae fead

2) Anuradha Paudwal

SIRRIYT

3) Vishwa Mohan Bhatt

fas Aig wg
4) K. J. Yesudas
P, 9.

Correct Answer: Vishwa Mohan Bhatt

fasy wg wg
Candidate Answer: [ NOT ANSWERED ]

QID : 248 - Who has recently launched his autobiography titled 'An Unsuitable Boy'?

BT & W fhe Ut ST 'O SFNRed a1 BT QlbTyuT i3 2
Options:

1) Rishi Kapoor

B IR

2) MS Dhoni

. T, o

3) Karan Johar

PROT

4) Vikram Seth

[CERREE)

Correct Answer: Karan Johar

PR e
Candidate Answer: Rishi Kapoor

ESR G
QID : 249 - Which of the following country is not a member of 'The Indian Ocean Rim Association (IORA)'?

fafofad 7 ¥ & a1 23 e AerR adT &= TeanT WY (I0RA)’ &1 I T8 87

http://thepracticetest.in/cs_cglet1 _D/&Wdihk@ _ElﬂeMﬁH’ [lg) @@WEYEGSDMMW%WHQI@GBEB@]] 4107041 77712c90c3885¢ 15/27
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Options:
1) Sri Lanka
PINEal

2) Mauritius

3) Seychelles

IR

4) China

G|

Correct Answer: China

Candidate Answer: [ NOT ANSWERED ]

QID : 250 - Which country has launched the longest bullet train line covering a distance of 2252 kilometers in January, 2017?

e =1 3 Sadt 2017 B Ry & 99 T goie S I AT ot T 2252 e €, w1 wayu i 82
Options:

1) Japan

S

2) China

CiE|

3) Afghanistan
S

4) Myanmar
AR
Correct Answer: China

Candidate Answer: China

QID : 251 - What is the sum of all prime numbers between 60 and 80?

60 TUT 80 & St AT @l Wt SruTg TRemait 1 AT faba 82
Options:

1) 272

2) 284

3) 351

4) 414

Correct Answer: 351

Candidate Answer: 351

QID : 252 - A and B have to type a book together containing 120 pages. A takes 9 hrs to type 36 pages and B takes 5 hrs to type 40 pages. A typed first 60 pages
alone and the last 60 pages were typed by A and B together. How much time (in hours) will be taken to type the complete book?

A TUT B I fiieiR T 120 UF aTcit fbdTa oSy 31 81 A, 9 1 T 36 UF ST Rl § AUT B, 5 T T 40 J§ < Rl &1 A T8 60 Y 3fhall <8y Pl § aul
TR F 60 I8 A 7T B Aiciar ey o €1 Ot fobca &1 e1st o & =1 g0 (%t /) @

Options:

1) 24

2) 20

3) 12

4)15

Correct Answer: 20

Candidate Answer: 15

QID : 253 - ABC is a right angled triangle in which A = 90°, AB = 5 cm and AC = 12 cm. What is the approximate volume (in cm3) of the double cone formed by
rotating the triangle about its hypotenuse?

ABC U% T 10 Iy B s £A = 90°, AB = 5 3.1}, TuT AC = 12 F.1. B 1 YW ! 30 ool & YR W YA T | T gU fg=icp & smaeH (.13 ) w1 9m
T 41 82

Options:

1) 145

2) 290

3) 435

4) 580

Correct Answer: 290

Candidate Answer: [ NOT ANSWERED ]

QID : 254 - A trader allowed a discount of 15% on a trolley bag having list price of Rs 1360 and earns a profit of 15.6%. What is the cost price (in Rs) of the trolley
bag?

TH YR T ¢relt a7 ot siftrd G 1360 % 8, TR 15% B e aal § T 15.6% T A1 G ¢ ¢iat 371 &1 %3 g (3 H) framn 82
Options:

1) 1000

2) 1005

3) 1050

4) 1156

Correct Answer: 1000

Candidate Answer: [ NOT ANSWERED ]
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QID : 255 - Price of a diamond is directly proportional to square of its weight. A man broke the diamond accidently in three pieces in the ratio of 3 : 5 : 7 and thus
loses Rs 42600. What was the original price (in Rs) of the diamond?

T ER BT g ITF YR & T P SFFAMU 81 T Afed I T ¥ a8 ERI A gHSI H 32 52 7 F S0 & ge T 3R 39 978 I 3T 42600 ¥ &1 g1 g5 1 &R
FI IRATAD Hed (3 H) T U412

Options:

1) 11786

2) 60000

3) 67500

4) 75000

Correct Answer: 67500
Candidate Answer: 67500

QID : 256 - The average weight of 100 students is 32 kg. The average weight of first 49 students is 30 kg and of last 50 students is 34 kg. What is the weight (in
kg) of the 50t student?

100 BT BT 3T YR 32 5.3, B1 TS 49 BT &7 39T YR 30 .70, § Tur 3ifaw 50 S &1 3id YR 34 {6,701, 1 50 & B &1 YR (7.1, F) | 82
Options:
1) 25

2) 30
3) 32

4) 33
Correct Answer: 30
Candidate Answer: 30

QID : 257 - By selling 90 pens for Rs 80 a man loses 20%. What should be the selling price (in Rs) of 90 pens for 20% profit?

T e B 80 T T 90 HTH So- TR 20% P! BT Bldit &1 20% BT AH HHM & [T 90 FTH BT f3ehd Ted (3 H) T ST AMeT?
Options:

1) 90

2) 100

3) 110

4) 120

Correct Answer: 120
Candidate Answer: 110

QID : 258 - Raman spends 80% of his income. If his income is increased by 25% and the expenditure increase by 10%, then what will be the percentage increase
in his savings?

T SOT 3T BT 80% T TR & &1 AT ITBT ST H 25% BT G Bt § U1 I9F T H 10% P 3G BNl 2, ol 9! 5= H fobem) wfawrd 1 9 gnfe
Options:
1) 17

2) 70
3)77

4) 85
Correct Answer: 85
Candidate Answer: [ NOT ANSWERED ]

QID : 259 - A man makes four trips of equal distances. His speed on first trip was 60 km/hr and in each subsequent trip his speed was half of the previous trip.
What is the average speed (in km/hr) of the man in these four trips?

T AT M g &) IR AENE HRA1 5| Ugel A & 9! 1 60 fos.w/der ot qur srreft &R amn 8 3w i fseh amn &t 1fa § st of) 37 IR amnsit & 39
T BT 3 T (fo. . eier &) fobatt 82

Options:

1) 16

2) 30

3) 28.125

4)27.5

Correct Answer: 16

Candidate Answer: [ NOT ANSWERED ]

QID : 260 - Rohan borrowed a certain sum of money at simple interest. Rate of interest was 3% per annum for first 3 years, 4% per annum for next 5 years and
6% per annum for next 7 years. If he paid Rs 2059 as interest, then what is the sum borrowed (in Rs)?

e T T A B JrRT SIS TR IYR Al S| SIS Bl G2 Ugal 3 I8 b o1Y 3% d1f¥h, 3FTel 5 I8 o fo1g 4% d1f¥iep T 3Tal 7 anf & oW 6% a1t 21 afe a8
2059 ¥ SIS & ¥ § THIAT 8, A SYR & TS i (3 H) T 82

Options:

1) 2400

2) 2500

3) 2900

4) 3100

Correct Answer: 2900
Candidate Answer: [ NOT ANSWERED ]
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QID:261-Ifx +y =5, X3 + y3 = 35, then what is the positive difference between x and y?

g x +y =5,x3 + y3 = 35, @ x TUT y BT YTHS 3R a1 82
Options:

1)0

2)1

3)5

4)6

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID: 262 -

If x= 2+43 , then what is the value of x2 + x — 97
2--3

afE x= 2+—‘“E ar X2+ x -9 F HIF T &7

23

Options:
1)0

2) 3v2
3)3v3

4)5v3
Correct Answer: 5V3
Candidate Answer: [ NOT ANSWERED ]

QID: 263 -

2 3
If x + y+z=0, then what is the value of X—+y—+£?
3z 3xz 3x

2 3
afEx+y+2z=0, @ X—+y—+§aﬁrm?—rm%?
3z 3xz 3x

Options:
1)0
2) xz
3y

4) 3y
Correct Answer: y
Candidate Answer: [ NOT ANSWERED ]

QID : 264 -

If x— % =1, then what is the value of

1 e 1 1 1
B _ _
ate x x a LX—'T X+“1+x2+'1 X2—'1]

Options:

1) +V5

2)2/5

3) £2/V5

4) +v/5/2

Correct Answer: +2//5

Candidate Answer: [ NOT ANSWERED ]
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QID : 265 - PQ is a diameter of a circle with centre O. RS is a chord parallel to PQ subtends an angle of 40° at the centre of the circle. If PR and QS are produced to
meet at T, then what will be the measure (in degrees) of PTQ?

F% 0 IT0 9 BT ™ PQ 81 PQ % THMIGR TH SidT RS, T & b5 TR 40° BT HIUT S 31 TS PR TUT QS I FGTehR T WR FIaman Sl 8, af £PTQ &7 6 (f=ht /)
1

Options:

1) 55

2) 60

3)70

4)90

Correct Answer: 70

Candidate Answer: [ NOT ANSWERED ]

QID : 266 -
In the given figure, ZAMB = 1307, then what is the
value (in degrees) of ZABQ?

& 7S Hpa # LAMB=130° & a1 £ABQ &
A (B A) Fm g2

Options:
1) 40

2) 50
3) 60

4) 90
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID: 267 -
In the given figure, AP =3 cm, AR =6cmand RS =
9 cm, then what is the value (in cm) of PQ?

& 7S pa # AP=38.., AR=68.4. g
RS=90.#. &, & PQ@E A (@& &) Far &2

Q
P}//—'__)\_\
i .
=
‘\\\‘
S W
==
Options:
1)9
2) 12
3)18
4)27

Correct Answer: 27
Candidate Answer: 18
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QID : 268 -
In the given figure, a circle touches quadrilateral
ABCD.IfAB=2x+3,BC=3x-1,CD=x+6and
DA = x + 4, then what is the value of x?

& 7 el A, vh g7 Igds ABCD F T
T T ¥ TR AB=2x+3,BC=3x-1,CD=x+
BITMDA=x+4 &, I x& AT FT &7

— B

Options:
1)3

2) 4.5
3)6

4)6.5
Correct Answer: 6
Candidate Answer: [ NOT ANSWERED ]

QID: 269 - If cosec? 6 = 625/576, then what is the value of [(sin 8 — cos 6)/(sin 8 + cos 6)]?

g cosec? B = 625/576, Al [(sin 6 — cos B)/(sin 8 + cos 6)] BT A T BIT?
Options:

1)1

2) 31/17

3)17/31

4) 14/25

Correct Answer: 17/31

Candidate Answer: 14/25

QID : 270 -

3 [cos 39

What is the value of 2| = _Jsin?39= sin? 517
2| sin 51

gfcos 39
ZL sin 51

]—\/sin2 39+sin? 51 T A AT 2

Options:
1)1/2

2) 5/2
3)0

4) Both 1/2 and 5/2

1/2 A1 5/2 T

Correct Answer: Both 1/2 and 5/2
1/2 QT 5/2 T

Candidate Answer: 0

QID : 271 - If cot A = [sin B/(1 — cos B)], then what is the value of cot 2A?

T cot A = [sin B/(1 — cos B)], Y cot 2A T A T GHI?
Options:

1) cot(B/2)

2) cot 2B

3)cotB

4) tan B

Correct Answer: cot B

Candidate Answer: [ NOT ANSWERED ]
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QID: 272 -

The line chart given below shows the ratio of production to sales of
two bike-manufacturing firms overthe period of 6 years.

7 o o @ Ry A o ads RfaEwr sufEE F 6 a6t &
Faftr & gv 3ees aur Ry F o @ aeiar T g

~*Company 1 /&9t 1 ™ Company 2/ 9T 2
SE 18 13 o145
(7] 14
o 12 1.3
o ; 09
" 1168— 11
Sg 08 g0l /09 '
g o6 707;\\7
o 0.4 0.6
ER 02] 0.4
"6 0 ; ; : . . ’
% T 2011 2012 2013 2014 2015 2016
n: Year | a9

Assume if in any year sales is more than production then both the
companies has sufficient stock to meet such instances.

A dfew ofy B 9 o, 3oea @ 3w § oar o
Ryt ¥ B 2 Fufat § o9 ggic SR 3

If the sales of company 1 in year 2015 was 50000 units, then what was its production (in units) in year 2015?

I ST 1 99 2015 H 50000 THTS FI BT BT 8, A a¥f 2015 T IYHT IWEA (SHTE T) 1 EA?

Options:
1) 38460
2) 45000
3) 52000
4) 65000

Correct Answer: 65000
Candidate Answer: [ NOT ANSWERED ]

QID: 273 -

The line chart given below shows the ratio of production to sales of
two bike-manufacturing firms overthe period of 6 years.

79 fov ov rmr R # o e« fafREw FufEar F 6 ast #ir
¥aftr & gv seves aur et & s s R T g

~*Company 1/&F911 ™ Company 2/ F9=T 2
W
= 1.6 1 13 1.45
[ 1.4 12
2 1.2 :
“F 1168 1
S 08 1— -
E E 06
o 0.4 0.6
EE 02! 0.4
s 0 ; . : . . '
% T 2011 2012 2013 2014 2015 2016
« Year | af

Assume if in any year sales is more than production then both the
companies has sufficient stockto meet such instances.

A anere Oy BT 9F TR sooes @ R & oar o
offeufaat & e o ot § o9 saieT svEr 3

The production of company 2 in year 2012 is 30000. If sales of company 2 in year 2012 and 2013 is same, then what was its production (in units) in year 2013?

U 2 BT 99 2012 BT IATET 30000 &1 A I8 2012 3R 2013 T SUH 2 F 9! SRR 7, ol a¥ 2013 F ST Iare (318 ) fobe U2
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Options:
1) 100000
2) 16000
3) 30000
4) 20000

Correct Answer: 16000
Candidate Answer: [ NOT ANSWERED ]

QID: 274 -

The line chart given below shows the ratio of production to sales of
two bike-manufacturing firms overthe period of 6 years.

o Rr v or R # o e Rfewor Fufaet 6 ast #
¥aftr # gv 3cea aur Ry F o @ aeiar v g

“*“Company 1 /FTT1 "™ Company 2/ F9=T 2
8 1.6 -
£E 1.4
E : 1,:]? 1
S 08
s E 06 -
B 04
ER 03]
s 0 . : . , . ‘
% T 201 2012 2013 2014 2015 2016
* Year | 9§

Assume if in any year sales is more than production then both the
companies has sufficient stock to meet such instances.

Aa A ofy B 9 e, seew @ afew € oar o
offeufaet & foe =t Sofat § o gaie sosw B

The production of company 1 in year 2014 is 18000 and sales of company 2 in year 2012 is 15000. What is the ratio of difference in sales and production of
company 1 in year 2014 and company 2 in year 2012?

$q=g1$ra'sf2014wr3‘cqm‘«r18000%a%n$q=ﬁzaﬁacfzo1zﬁﬁﬁ1sooo%| TN 2014 T HU 1 TUT 9 2012 F HUT 2 B BT TUT I F 3R BT U
TR

Options:

1)8:15

2)7:16
3)9:11

4)3:8
Correct Answer: 8 : 15
Candidate Answer: [ NOT ANSWERED ]
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QID : 275 -
The line chart given below shows the ratio of production to sales of
two bike-manufacturing firms overthe period of 6 years.
#T Re v o B § o e REE s § 6 aut &
¥aftr # gv sevrea aur Rl & e S aeiar T g

~*Company 1 /&9t 1 ™ Company 2/ F9=T 2
% 1.6 1
w 1.3 1.45
I 1.4' e A 13
T B 12 :
: E 11408 171
o 0.8
5 E 0.6 1
3 E 04 | 06 ™
a 0.2 - 0.4
"6 0 ; . ; ' . .
% T 2011 2012 2013 2014 2015 2016
« Year /3%

Assume if in any year sales is more than production then both the
companies has sufficientstock to meet such instances.

A dfer ofr B 9 foh, 3ooee @ s & oar o
siiftufagt & T gt #ufagr & 9/ 9atT A4Us 2

Company 1 sold 20000 bikes each year from 2011 to 2016 and company 2 sold 10000 bikes each year from 2011 to 2016. What is the difference (in units) in
average yearly production of company 1 and 2?

HUT 13 2011 § 2016 TP UAD a¥ 20000 TEH ST TUT BT 2 3 2011 F 2016 T UdD Y 10000 TSP S| U 1 TUT U 2 & 34 aiffes Iedre § fban
3R (3TS W) 82

Options:

1) 6733.33

2) 7500
3) 8666.66

4) 9333.33
Correct Answer: 9333.33
Candidate Answer: [ NOT ANSWERED ]

QID : 276 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

He did not go (1)/ to the temple on foot (2)/ he went there by the car. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 3

Candidate Answer: 3

QID : 277 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No error'.

She ascended (1)/ to the throne (2)/ at the early age of seven. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

Candidate Answer: 1

QID : 278 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

Neha's mother was annoyed with her as she could not her examination.
Options:

1) Get off

2) Get on

3) Get upon

4) Get through
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Correct Answer: Get through
Candidate Answer: Get through

QID : 279 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

I shall her if she apologises to me for her misbehavior.
Options:

1) pardon

2) forgive

3) punish

4) reprimand

Correct Answer: forgive

Candidate Answer: pardon

QID : 280 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ebullient

Options:

1) Deceitful

2) Insincerity

3) Enthusiastic

4) Prejudice

Correct Answer: Enthusiastic
Candidate Answer: [ NOT ANSWERED ]

QID : 281 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Truculent
Options:

1) Ferocious
2) Luxurious
3) Luscious
4) Delicious

Correct Answer: Ferocious
Candidate Answer: Luxurious

QID : 282 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Niggardly
Options:

1) Mingy

2) Inefficient
3) Generous
4) Sinful

Correct Answer: Generous
Candidate Answer: [ NOT ANSWERED ]

QID : 283 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Dissident

Options:

1) Alienated

2) Iconoclast

3) Divisive

4) Orthodox

Correct Answer: Orthodox

Candidate Answer: Alienated

QID : 284 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

Bear the palm

Options:

1) To face the consequences

2) To meet death

3) To be able to predict future

4) To win

Correct Answer: To win

Candidate Answer: To face the consequences

QID : 285 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/Phrase.

To give the devil his due

Options:

1) To punish the wrong person

2) To give credit to even a notorious person

3) To let the enemy learn the lesson on his own
4) To stand in the way of the devil

Correct Answer: To give credit to even a notorious person
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Candidate Answer: To let the enemy learn the lesson on his own

QID : 286 - Improve the bracketed part of the sentence.

(No sooner the advertisement regarding the launch of new smart phone appeared) than there was a rush on the online website for prebooking the same.
Options:

1) No sooner the advertisement regarding the launched of new smart phone appeared

2) No sooner did the advertisement regarding the launch of new smart phone appeared

3) The advertisement regarding the launch of new smart phone was no sooner having appeared

4) No improvement

Correct Answer: No sooner did the advertisement regarding the launch of new smart phone appeared

Candidate Answer: No improvement

QID : 287 - Improve the bracketed part of the sentence.

The equipment is (adapted to) cotton industries.
Options:

1) Adapted from

2) Adapted for

3) Adapted of

4) No improvement

Correct Answer: Adapted for

Candidate Answer: [ NOT ANSWERED ]

QID : 288 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who loads and uploads ships
Options:

1) Stevedore

2) Transgressor

3) Lapidist

4) Reticent

Correct Answer: Stevedore
Candidate Answer: Stevedore

QID : 289 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Belief or opinion contrary to what is generally accepted
Options:

1) Invocation

2) Incognito

3) Heresy

4) Mercenary

Correct Answer: Heresy
Candidate Answer: Incognito

QID : 290 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Tomorrow

2) Occurence

3) Temperature

4) Preferable

Correct Answer: Occurence
Candidate Answer: Occurence

QID : 291 - In the following question, four words are given out of which one word is incorrectly spelt. Find the incorrectly spelt word.
Options:

1) Receeding

2) Cemetery

3) Parallelogram

4) Rehearsal

Correct Answer: Receeding
Candidate Answer: Rehearsal

QID : 292 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: If all the requirements of the villages are satisfied there by itself, then the peasants will usefully utilize their spare time.
Q: Let us consider the village artisans.

R: This will also provide employment to all the educated people of the villages.
S: Having discussed the problems and requirements of rural life.

Options:

1) SQPR

2) PRQS

3) QRPS

4) PSQR

Correct Answer: SQPR

Candidate Answer: PRQS

http://thepracticetest.in/cs_cglet1 _D@Wd)hbé _&ﬂthﬂ’@l @@WYEGDIWMW%W@G%‘DBQHJ 4107041 77712c90c3885¢ 25127



91712017 Download More Pape8taftSelsctionCommision vtJobsAlert.In

QID : 293 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P: Practical farming includes knowledge of fruit and vegetable farming.

Q: These schools need not necessarily have their own farms because the village itself will provide ample field work facilities.

R: Agriculture should be made compulsory in higher secondary schools; alternatively, the urban students can be taught town-planning, industrial planning etc.
S: Therefore, at this stage, only theoretical education for the village students would suffice.

Options:

1) QRSP

2) RPQS

3) RSPQ

4) QPRS

Correct Answer: RPQS

Candidate Answer: QRSP

QID : 294 - In the following question, a sentence has been given in Active/Passive voice. Out of four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

I saw him leaving the movie theatre.

Options:

1) He was seen leaving the movie theatre by me.

2) Leaving the movie theatre he was seen by me.

3) He was seen to be leaving the movie theatre.

4) He had been seen leaving the movie theatre.

Correct Answer: He was seen leaving the movie theatre by me.

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

The principal said, "Be quiet, girls."”

Options:

1) The principal called the girls and ordered them to be quiet.
2) The principal commanded the girls that they be quiet.

3) The principal urged the girls to be quiet.

4) The principal said that the girls should be quiet.

Correct Answer: The principal urged the girls to be quiet.
Candidate Answer: The principal urged the girls to be quiet.

QID : 296 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Modern man is imprisoned by his time-table and his routine. His life is all care and . He does not have for anything but his duties and occupation for
money. Men, in all may have been prone to this disease and; indeed, we in India may not have been by it to the extent that people in western
countries have been.

His life is all care and
Options:

1) wisdom

2) success

3) worry

4) anxiety

Correct Answer: worry
Candidate Answer: worry

QID : 297 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Modern man is imprisoned by his time-table and his routine. His life is all care and . He does not have for anything but his duties and occupation for
money. Men, in all may have been prone to this disease and; indeed, we in India may not have been by it to the extent that people in western
countries have been.

He does not have for anything
Options:

1) resources

2) time

3) material

4) money

Correct Answer: time

Candidate Answer: time

QID : 298 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Modern man is imprisoned by his time-table and his routine. His life is all care and . He does not have for anything but his duties and occupation for
money. Men, in all may have been prone to this disease and; indeed, we in India may not have been by it to the extent that people in western
countries have been.

but his duties and occupation for money.
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Options:

1) making

2) minting

3) collecting

4) spending

Correct Answer: making
Candidate Answer: spending

QID : 299 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Modern man is imprisoned by his time-table and his routine. His life is all care and . He does not have for anything but his duties and occupation for
money. Men, in all may have been prone to this disease and; indeed, we in India may not have been by it to the extent that people in western
countries have been.

Men, in all may have been prone to this disease and; indeed,
Options:

1) spheres

2) streams

3) areas

4) ages

Correct Answer: ages

Candidate Answer: areas

QID : 300 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Modern man is imprisoned by his time-table and his routine. His life is all care and . He does not have for anything but his duties and occupation for
money. Men, in all may have been prone to this disease and; indeed, we in India may not have been by it to the extent that people in western
countries have been.

we in India may not have been
Options:

1) infected

2) inflicted

3) accompanied

4) associate

Correct Answer: inflicted

Candidate Answer: associate

by it to the extent that people in western countries have been.
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